EXAMEN 1r ESO 

TEMA 5B: ELS NOMBRES ENTERS. OPERACIONS
Nom: _________________________​​​​___​​_______Curs: 1r__ __Data:

Resol les operacions combinades següents, escrivint tots els passos :

1. - 3 - 15 : 3 =
2. ( - 10 ) · ( 4 - 2 · 7 )  =
3. - 9 : ( - 3 ) - ( - 5 ) – ( - 10 ) = 
4.  
30 – 6 · ( – 3 ) =
5. ( – 5 ) · 4 –  5 =
6. ( 13 – 10 ) · ( – 13 + 10 ) =
7. 33 – ( 5 – 8 · 3 ) =
8. 
( – 3 + 6 ) – ( – 3 + 13 ) – 3 =
9. ( 4 – 10 ) · ( – 4 + 11 ) =
10. 20 – ( -4 – 10 ) : ( – 3 + 10 ) =
11. [( – 19 ) – ( – 3)] : ( – 2) =
12. ( – 6 + 2 · 3 ) – ( – 1 ) =
13.  – 4 + 2 · 5 =
14. ( – 5 + 6 ) – ( 14 – 5 ) – 2 =
